

Chapter 7  Systems of Linear Equations




Name ____________________
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1.
Which linear system has the solution x = –2 and y = 6?

	a.
	x + 3y = 17 

2x + y = 15
	c.
	x + 3y = 16 

4x + 4y = 16

	b.
	2x + y = –2 

x + y = 16
	d.
	x + 2y = –2 

2x + 4y  = –4




2. 
Create a linear system to model this situation:

Cheri operates a grass-cutting business. She charges $19 for a small lawn and $29 for a large lawn. One weekend, Cheri made $287 by cutting 13 lawns.

	a.
	s + l = 287

29s + 19l = 13
	c.
	s + l = 13

29s + 19l = 287

	b.
	s + l = 287

19s + 29l = 13
	d.
	s + l = 13

19s + 29l = 287




3.
Use the graph to approximate the solution of the linear system:
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	a.
	(0, –2.8)
	c.
	(0.2, –3) 

	b.
	(–3, 0.2)
	d.
	(–2.8, 0)




4.
Express each equation in slope-intercept form.

–2x + 4y = 68

13x + 4y = 284

	a.
	y = [image: image4.emf]1

2

x – [image: image5.emf]17


y = [image: image6.emf]

13

4

x – [image: image7.emf]71


	c.
	y = [image: image8.emf]

284

13

x + [image: image9.emf]17


y = [image: image10.emf]

13

4

x + [image: image11.emf]4

13



	b.
	y = [image: image12.emf]1

2

x + [image: image13.emf]17


y = [image: image14.emf]

13

4

x + [image: image15.emf]71


	d.
	y = [image: image16.emf]4

13

x [image: image17.emf]

284

13


y = [image: image18.emf]1

2

x [image: image19.emf]

284

13






5.
Use the table of values to determine the solution of this linear system:
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	a.
	(4, –13)
	c.
	(4, 4)

	b.
	(–13, –13)
	d.
	(–13, 4)




6.
The solution of this linear system is (–3, y). Determine the value of y.

x – [image: image23.emf]3

y = [image: image24.emf]33
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x – y = [image: image26.emf]

88

7


    

	a.
	20
	b.
	40
	c.
	30
	d.
	10




7.
Write an equivalent linear system where both equations have the same x-coefficients.

[image: image27.png]2x + fiy
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	a.
	[image: image29.png]24x+ 8y =20



 and [image: image30.png]6x + 8y





	c.
	[image: image31.png]8x+ 24y = 20
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	b.
	[image: image33.png]12x+ 24y
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	d.
	[image: image35.png]8x + fiy
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8. Without graphing, determine the slope of the graph of the equation:   3x + 4y = 11

	a.
	–[image: image37.emf]3

4


	b.
	[image: image38.emf]3

4


	c.
	3
	d.
	4





9. Determine the number of solutions for the linear system that models this problem:

Two people are playing a game. The difference in their points is 83. When the number of points each player has is doubled, the difference is 166. How many points does each person have?

	a.
	one solution
	c.
	no solution

	b.
	two solutions
	d.
	infinite solutions





10.  For each equation, identify a number you could multiply each term by to ensure that the coefficients of the variables and the constant term are integers.

(1)
[image: image39.emf]5

4

x + [image: image40.emf]1

6

y = [image: image41.emf]47

12



(2) 
[image: image42.emf]4

5

x – [image: image43.emf]6

7

y = [image: image44.emf]16





	a.
	Multiply equation (1) by 2; multiply equation (2) by 3.

	b.
	Multiply equation (1) by 12; multiply equation (2) by 35.

	c.
	Multiply equation (1) by 3; multiply equation (2) by 2.

	d.
	Multiply equation (1) by 35; multiply equation (2) by 12.




11.
Determine the number of solutions of the linear system:

2x – 5y = 23

–6x + 15y = 21 

	a.
	two solutions
	c.
	infinite solutions

	b.
	no solution
	d.
	one solution


Constructed Response

1.
Create a linear system to model each situation:

a)  In a board game, Judy scored 3 points more than twice the number of points Ann scored. 

There was a total of 39 points scored.
b)  A recycling depot pays 0.06¢ for a small can and 0.23¢ for a large can. Chara took 70 cans to the recycling depot and her total refund was $22.35.

2.  Solve this linear system by graphing.

2y + 4x = 8

 –x + y = –8

3.  Use substitution to solve this linear system.

[image: image45.png]8x+y=-458
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4.  Create a linear system to model the following situation, and then use substitution to solve the problem: 

The perimeter of a rectangular field is 276 m. The length is 18 m longer than the width. 

What are the dimensions of the field?



5.  Use an elimination strategy to solve each linear system.  Verify your solutions.

a)  [image: image47.png]






b)  
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6.  Create a linear system to model this situation, then solve.
Tickets for a school play cost $8 for adults and $4.75 for students. 

There were ten more student tickets sold than adult tickets, and a total of $1399 in ticket sales was collected.



7.  Determine the number of solutions, if any, of this linear system.  How would the graphs of these equations confirm your answer?
[image: image51.png]4x+ 12y = 28
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8.  For what value of k does the linear system below have infinite solutions?
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x + y = 14 

kx + 2y = 28
